=1 Xo] ko o= _"
2oletS =4
o) 2]4=7F 2 7R LAPFAEA 22 +ay = 19 9 |7 | 6. TS AHEAHA FollA 1 &7t (3, 1) o] AL
(2,3) & W, o & Fstoiet.
© 2z 4 3y =
3r — 2y =
@{"7Y"
r+y=1
UAYG A 22+ 3y +k =0 2 T Yo A (-3,1) 2 —2 =3
o] & ul, A% k ©f FHS Fotofe). ®
’ r—y=1
@ 20 —y =5
r—2y=1
® z+y—1=0
20 WA 3z + 2y = 20 °] (a,1),(2,) 5 A dr-y-6=
o, o+ b 9] 727
@1 @ 5 ®7 @ 9 ® 13
7. GAHFA 24 ay = —4 9 A7 (1, —3) & o,
& a O 2
o @ ® 2
AAFAA 2043y +5 =0 & 37} (-2,p) & 3 ! 5
o, p o] 727 @ —1 3 2
3
® -3 @3 ® 0 @ 1 ® -1
8. AT A = {(z, 4z +y =16, z, y= AA5} 4
o, n(A) =7
z, y o M7t A4 AAL] H7folnr, dxpgAA]
6z — 5y =4 of L= ol HEFH 9] + ®1 @2 @3 @®4 O3
(I, =2), (4, m) 22 Yetfiold wf, Im o] =
stolet,
9. At A= {(z, y)22+3y =30, z, y= AT} 4
o, n(A) =7
® 2 @ 3 ® 4 @ 5 ® 6




11.

13.

E AE A B F A = {z ylr+y =
9 =

15y = ST A
@ 5z + 15y = 30 @5+15 30

® z+3y=30 @ z+ 3y = 3000

® z+ 3y =600

T A% (3, —1), (b, 4) o] AT ar+2y—4 =
09 s ®l, a, b 4k& 2= FStofet

, x, ye A}
B = {(z, y)l2z +y =11, z, y= AAF} <
n(4) —n(B) °I gk Fatolet.

’

@ (1, 2), (5 4), (6, 3)
® (5, 4), (6, 3), (7, 2)

14. AAAE 2, y ol tiste] 2 42y = 4 9] P TS

2z —y =3 o] TS

9

B et & of, AﬁBQ]%J_O

N B WA F-skeizt,

15. 2, y 7t 495 1, L F DALY

7} ZFe 7109

.

@ 2z+y=38
® x+4y=15
®2z+y=11

~

jol she] 471

d

@ 2z+y=9

@ 6x+4y =24

16. 2, y 7t 445 0, he F DAPHA 7t 3

A A2

® 3z+y=15
®z-—y=3

® 4z +6y =24

@ -3x+y=12

@ 22+ 3y =20




17. o2 5 o, y ofl TSH dapapgA]o] ofd A e | 20, (—2k, —k) 7F LAPFAA] 72 +2y = 82] A $]9]
M7 AL, A ko 7o
(1) 3z = . ,
5
(B)ax+Ty="Ty @7% @g
(2)ay+1=5
(0) 22 —3y =38
(B)zy=1
(A)z+==3
(0)a—3y+1 21. AlFolE HelA 6km Eold TATe] 7hedl A&
(R)z+2y=1 o= Al 6km/h & A AE B 7Hert Bl 2)
(=) 242 =1 AAZF WA A% 2km/h B AAAE B M
Y Z 2 A7 30 Ho] Aty qtch AAAE g 7t
AdE zkm , AAAE B2 7+ AYSE ykm 2t &
@ 47 @ 5 7H 3 6 74 ‘qj O 5z, y & 7o St ddigA o R &2
7109
AT .
@ 770 ® 87
@ T o oty =6
218 93 T LY _ys
6 2 6 2 =
SR M @ JETy=6
18. tha dAFAA FolA =A% (2, —1) °f 3i7h = §+ Y _ 96 6z + 2y = 2.5
A7 6
® z+y==6
@ 5z—2y=38 @ 30 -2y =8 22 + 6y = 2.5

22, AAHAA 2(z+1)+ay =72 F H (2, 1), (=3, b)
£ o2 Zr=tt. o], a® + 2ab 9] F2?

19. QAYHA po— 2y = 7 €] B A7} (1, g) O, E ® 19 @ 20 ® 21 @ 22 ® 23
o2 St a7t (5, 4) E ©, ¢ 9] #& ot




23. o5 2719 &A% ol A 2 +3y =6

[e] [e] =
o % BF n=H?

el
© (-3, ~2) © (-5, )
5 1 11

@ (L g) @ (_55 z)

@ (3, 3) ® (0, 2)
®© 9,0, ORCHCRE)
® 9, 0,6 @ 0,0 06
® 00606

24. 2, y o T AP §(6x ~ 3y 4+

1 3 5
4<§x+iy —§§—ax+by+c:0941.—l}§3’_
A, a:b:cd @27 (F, a>00lth)

’
2

® -3:6:5 @ 3:5:6 ® 12:10:6

@ 6:5:3 ® 6:-5:3

3
2) -3 S ar+by—c=09 B2 1A W, a:b:c

Ol 427 (Ha>0)

_ . 2 3
25,2,y ol B9 994 3 (2 —y) 1 2= D

O —4:6:5 @ 4:5:6 ® 4:6:-5

@ 4:6:5 ® 4:-5:6




